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(1) Question bank (June 2016 edition), Q2.4 (p.17)  

In the question, the requirement ‘The correct bank balance at 31 December is’ should be replaced 

with ‘The correct cash book balance as at 31 December is:’ 

 

 
 

(2) Question bank (June 2016 edition).  Answer to Q2.4 (p.79) 

 

In the solution, the ‘+’ signed should be replaced with ‘-’ sign. 

Then, the first working will read £(565) o/d - £92 dishonoured cheque = £(657) o/d  

 

 

(3) Question bank (June 2016 edition) Answer to 4.4 (p.89) 

The first answer should be ticked (as well as the final answer being ticked). 



Therefore, it will read: 

 

 

(4) Question bank (June 2016 edition) Practice Assessment 1 (task 5, part c).  Pages 149 
(question) & p.167 (answer) 

The question wording (and subsequent answer) need to include the word ‘control’ as shown in the 

diagram below.  It should read  

“Discounts allowed were entered in the sales ledger control account only” on the second line in the 

table. 

 

 
 

And the answer:- 



 


